| daitn: JI-190.1600M_kat Cocrasnen: 01.08.2010 JIucr 1 u3 3
Ll Kon HaumenoBanue neranu XapakTepucTuka LS
cxeme I0T./W37.

1 00.02.04.01.46 BuHT M5x80 1
2 00.02.04.01.21 BuHT M5x55 1
3 00.02.03.01.04 BuHT 4x16 5
4 97.05.00.02.00 Pyuka-Hakiaaka 1
5 97.04.03.07.00 TpyOka n3omupyromas @5x30 1
6 00.10.01.01.10 BrikiiouaTens KEDU HY15B 12(10)A 250V~5E4 1
7 00.10.07.01.10 BJI0K 3JIeKTPOHHBIN IUIABHOTO ITyCKa AOL DS20A 20A 230V~ 50Hz 1
8 00.10.04.01.01 Konpnencarop 0,33mx® K X2 MEX GPF 40/085/21/C 250V 1
9 00.02.03.01.03 BuHT 4x14 4
10 95.04.00.03.00 ITanka Ghukcanuy mHypa 1
11 97.05.00.01.00 Pyuka 1
12 95.04.00.02.00 TpyOka 3ammuTHast 1
13 97.05.00.05.00 Kpsimika Kopiyca qBUraTess 1
14 00.02.03.01.47 BuHT 3x14 2
15 97.04.03.04.00 IpyxuHa cimpaabHas 2
16 97.04.03.03.00 IleTka 3JIEKTPUICCKAs 6,3x16x17 2
17 97.04.03.01.00 Koprryc merkomepskaTess 2
18 97.04.03.05.00 dacroH PG25008 2
19 97.04.03.06.00 TpyOka n3omupyromas 24x30 2
20 00.02.03.01.62 Bunr 5x18 1
21 97.05.00.03.00 PykosiTka AOMOJIHUTENNbHAS 1
22 00.02.04.01.15 Bunr M5x18 1
23 00.02.02.02.20 [aii6a 5x10,5x1 1
25 00.02.03.01.17 Bunr 1
26 97.05.00.04.00 Kopnyc aBuratens 1
27 97.04.01.01.00 Crarop 1
28 00.02.03.01.61 Bunr 5x70 2
29 97.04.01.03.00 Huadparma 1
30 97.04.02.02.00 Brynka pe3uHoBas 1
31 00.01.01.01.09 [ToMmUIHUK ApUKOBBIN 609Z (9x24x7) 1
32 97.04.02.01.00 SIxopb ¢ BEHTUIISTOPOM 1
33 00.01.01.01.17 TToAMIMITHHUK MApUKOBBIN 6002RS (15x32x9) 1
34 00.10.02.01.02 IIHyp nmuTaHus C BUIKOM HO5VV-F 2X1,0mm?, L=4m 1
35 95.03.03.10.00 Knomnka ¢ukcatopa mimmHIess 1
36 97.03.03.09.00 Pbruar hukcaTop NIMAHIEIIS 1
37 97.03.03.08.00 IpyxuHa 1
38 95.03.03.07.00 [aii0a npsMOyroIbHas 10x14x1 1
39 95.03.03.06.00 Koub110 Boitnnounoe 1
40 97.03.03.05.00 Koprmyc peaykropa 1
41 97.03.02.01.00 KokyX HEOABYIKHBIN 1
42 00.02.04.01.14 Bunr M5x12 1
43 00.01.02.01.05 TToQIIMIHUK UrOJIBYATHII HK101610 (10x16x10) 1
44 00.02.04.05.02 Bunr M5x12 5
45 97.03.02.03.00 BunT cnenmanbHBIH M8x20 1
46 00.02.99.02.08 Konb1o ctonopuoe B14 1
47 95.03.02.02.00 Ynop pe3uHOBBIH 1
48 00.02.04.04.19 Bunt M5x25, S4 BHYTD. 1
49 97.03.03.04.00 Koseco 3ybuaroe Z=37 1
50 97.03.03.03.00 IInonka cerMeHTHas 4x5x13 1
51 97.03.03.02.00 Inuugens 4
52 00.02.99.01.11 Konblo cTonopHoe A35 1
53 00.01.01.01.74 ITonMmUIHUK MApUKOBBIN 6003-2RS (17x35x10) 1
54 97.03.03.01.00 Koprnyc noamunauka 1
55 97.03.05.01.00 Jepxarens Hoxka 1

Il

)

CKT N\

KarTastor 3armacHBIX YacTEH U3AEITUSI

JlelicTBuTENEH C:

01 ABI'VCTA 2010r.

I[INJIA PYUHAA
OJIEKTPUUYECKA IMCKOBAA

JAI1-190/1600M




‘ @aiin: JI11-190.1600M_kar | Cocrasnen: 01.08.2010 ‘ Jluct 2 3 3
56 00.02.04.01.40 Bunr M3x10 1
57 97.03.05.02.00 Tsara 1
58 97.03.05.03.00 T"aiika cnenpannpHast M3 1
59 97.03.05.04.00 3akienka O3x6 1
60 97.03.02.04.00 Hoxx packinuHuBaromuii 1
61 00.02.02.01.05 [Taii6a rpoBepHast &5 2
62 00.02.04.04.25 Bunr M5x10 2
63 97.03.01.04.00 Bryska 1
64 00.02.04.03.08 Bunt M4x8 1ui npsimoit 1
65 97.03.01.03.00 [pyxuna 1
66 97.03.01.01.00 Koxyx noaBuxHbIi 1
67 00.02.99.02.21 Konb1o ctonopuoe B42 1
68 97.03.01.02.00 Pyuka ko)xyXa MOABHKHOTO 1
69 00.02.02.02.02 [ITaii6a 4 1
70 00.02.04.01.01 Bunr M4x10 1
71 97.02.00.05.00 ®draHel] BHyTpeHHUN 39 1
73 97.02.00.04.00 danel| HapyKHbIH @39 1
74 00.02.02.02.34 IITaii6a D8x24x2 1
75 95.02.00.03.00 BunT cnienmansHbIi M8x18, S13 1
76 00.02.02.03.08 [aii0a cronopHas 12 2
77 95.03.04.02.00 Peruar 2
78 95.03.04.03.00 Konrpraiika MSL, S=13 1
79 95.03.04.04.00 IMpyxuHa 2
80 00.02.02.02.32 IITaiiba 8x18x2 2
81 95.03.04.05.00 Kponrureiin 1
82 00.02.99.02.02 KoubIto cTromopHoe B8 1
83 95.03.04.06.00 Bunr M6x20 1
84 95.03.04.07.00 IMpyxuHa 1
85 95.03.04.08.00 3aksenka J6x17 1
86 97.03.04.09.00 Kponmreiin yrinosoit 1
87 95.03.04.10.00 Och 8x47 1
88 95.03.04.11.00 BunT cnennanbHBIH M8x18L 1

97.03.04.00.00 OcHoBaHne B coope 1
89 97.03.04.15.00 OcHoBaHue 160x338 1
90 00.02.04.05.01 Bunr M5x8 3
91 97.03.04.12.00 [IkaJia riryOMHBI THIICHUS 1
92 95.03.04.13.00 3akienka J6x9 1
93 00.02.02.02.33 11aii0a 7x16x2 1
94 95.03.04.14.00 BuHT 6aparkoBblit M6x15 1
95 96.03.04.16.00 lecturpanHuk MBS, S=13, L=95 1
96 95.03.04.01.00 Boar cnenuanbHbIH M8x10, S=13 1
97 97.02.00.01.00 Kirou cnenmaabHbIH 1
98 95.02.00.02.00 JInnelika-orpaHUUUTENh 1
99 97.02.00.06.00 [TnuTa HampaBisomas 1

a KOGCHB

KEDU HY 158
124 250V
p LB J- O
=073 == ~2208 500y
ey ;
> CuHu
<S5 —ww—c@:p—'vvv\ 0
Y=
QN

q
T

[
.|

Il

=LK

N

KarTastor 3armacHBIX YacTEH U3AEITUSI

JlelicTBuTENEH C:

01 ABI'VCTA 2010r.

I[INJIA PYUHAA

OJIEKTPUUYECKA IMCKOBAA

JAI1-190/1600M




| daiin: JI11-190.1600M_xat | Cocrasnen: 01.08.2010 | JIuct 3u3 3

E,—'Eﬁ § EE'='=K R KaTamor 3ammacHBIX YacTeH U3SJIHUA
JlelicTBuTENEH C: [MWJIA PYYHAS
01 ABI'YCTA 2010r. DJIEKTPUUYECKAS IMCKOBAS AII-190/1600M




